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OdMNEE= 6,262,000 * 13| 6,262
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Sl oHEEOl AXRlHS CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
301 gt L= 2,500 0 2,500
1MIIEBESS 2,500 0 2,500
OgXel&= Ot0ICI B2 A&z 2,500
Ozxl®=+4 500,000& = 29H 1,000
Os=4 300,000& » 3H 900
Oo&d 100,000& * 6% 600
HE2AZH (LRI ZH ) 96,520 65,892 30,628
JlE&dl 96,520 65,892 30,628
JlE2&l 96,520 65,892 30,628
201 Let24E] 36,320 32,552 3,768
01 At 22l 29,320 27,052 2,268
OJl=ge =#HEsZH (=2 4l)
500,000& = 209H 10,000
CEELIIE/ES=1-1p)
8,000& = 20 * 8 » 123 15,360
OEU(3M) P& 220,000& = 38 = 64 3,960
02 =24l 7,000 5,500 1,500
OdEEH Sl 7,000,000& 7,000
202 oddl 38,400 24,840 13,560
01 = LH o4 1l 38,400 24,840 13,560
OJlEdl 20,0003 = 20 = 8¢ » 12& 38,400
203 YR =& 15,600 7,500 8,100
01 I 22H =8 12,000 3,300 8,700
OJIEH(32) 12,000, 000& 12,000
04 FN2ELRZ=TH| 3,600 4,200 A 600
©J|Z % (20021 0I5t) 300,000& = 12& 3,600
405 TtabF S 6,200 1,000 5,200
01 AL EFFHSHI 6,200 1,000 5,200
OQ (&2l XE) 500,000& =« 14 500
O (ARXE) 300,000& = 194 5,700




